0 .
I -I . m ﬁ Phép cong Ién dén 100 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
74 + 89 = 44 +89 =
85 +46 = 85+22 =
60 + 31 = 92 +35=
87+75 = 37+39 =
21+72 = 15+12=
74+ 25 = 87 +99 =
14+92 = 6+37=
57+70 = 79 + 54 =
84 +30 = 22+76 =
50+37= 98 +74 =
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Phép cong 1én dén 100 (hang ngang)

Tén:

74+ 89 = 163

85+46 =131

60 +31 =91

87+ 75 =162

21 +72=093

74+25=99

14+92 =106

57+70 =127

84 +30=114

50 +37 =287

™

Ngay thang: Piém:

44 +89 =133

85+22 =107

92 +35=127

37+39="76

15+12=27

87+ 99 = 186

6+37=43

79 +54 = 133

22 +76 = 98

9B +74=172
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